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QUESTION 1

You want to display the date for the first Monday of the next month and issue the following command:

SQL> SELECT TO CHAR (NEXT DAY (LAST DAY (SYSDATE), 'MON'),
'dd "is the first Monday for" fmmonth rrrr')
FROM DUAL;

What is the outcome?

A. In generates an error because rrrr should be replaced by rr in the format string.

B. It executes successfully but does not return the correct result.

C. It executes successfully and returns the correct result.

D. In generates an error because TO_CHAR should be replaced with TO_DATE.

E. In generates an error because fm and double quotation marks should not be used in the format string.

Correct Answer: C

QUESTION 2

Which two queries only return CUBE?

BOX_SIZE MIN_WEIGHT MAX_WEIGHT

SMALL 0

A. SELECT shape FROM bricks JOIN boxes ON weight >= min_weight AND weight

B. SELECT shape FROM bricks JOIN boxes ON weight > min_weight;

C. SELECT shape FROM bricks JOIN boxes ON weight BETWEEN min_weight AND max_weight;
D. SELECT shape FROM bricks JOIN boxes ON weight

E. SELECT shape FROM bricks JOIN boxes ON NOT (weight > max_weight);

Correct Answer: AC

QUESTION 3
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Examine this statement: SELECT 1 AS id, \\' John\\' AS first name FROM DUAL UNION SELECT 1, \\' John\\' AS name
FROM DUAL ORDER BY 1; What is returned upon execution?

A. 0 rows
B. an error
C.1row
D. 2 rows

Correct Answer: C

QUESTION 4

Which three arithmetic operations can be performed on a column by using a SQL function that is built into Oracle
database? (Choose three.)

A. Finding the lowest value
B. Finding the quotient

C. Raising to a power

D. Subtraction

E. Addition

Correct Answer: ACE

QUESTION 5

Which three statements are true about a self join?

A. It must be an inner join.

B. It can be an outer join.

C. The ON clause must be used.

D. It must be an equation.

E. The query must use two different aliases for the table.
F. The ON clause can be used.

Correct Answer: BEF
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